|
|
|
|
®
AR A A o S

o
g

o
L

*e

>

g 9

\ 4

g

3500 m

3000 m

2500 m A

2000 m A
1500 m -
1000 m 3
500 m
12,0% A

om -

12,0% V¥

-500 m

i usiqiss uQ -

1N0OB OE 8| SI8A BUNT B||SANON : 8uNT =
61:02 B 184oN0Y « 8590 € [I9|0S NP JoAST «
00:80 & 8002 INOE /g IPaJ2JaW « XIUOWEY)

W (5'8) 2222 » W EYOL « 9OALY

wy (0°G) £‘€1g « W 8ppE « 131D B| 8P 0D
wy (£°G) 2802 » W ¥GET » Oue|g OB 8bnjey

w (8°2) G'€02 » W ¥ | « SISIUOW SBP |00

w (8°04) LGB} « W 600Z » ZELOT 8P SI9[eyD

wy (£°G) 6v81 « W €08} « [BNISBUSS

S W (P EE) 2°6L1 o W /86 « UBIDIL O

Wy (6°9) 8°291} » W 92§ | « ZB|2I0- B| 8P [0D

wy (8°9) 8091 « W £€9g « SNadly a11usy

wy (€°8) 0bS | » W /b | « xedwey)d

Wy (9°€) LGP « W €Y « HOH 8P ZBId

- W (9°8) 12h 1 « W /86 « BSSES B

wy (0°G) G'€E « W $202 « SHSSSIS] B
wy (£'v) ‘821 « W 9E/Z « BSSNOY B| 8P 9ASN NP |00

wy (£°G) 262k « W Gg/g - uojnseg np |00
wy (£°G) 1'GLE « W L9Pg « pieulag 1S pH Np |00

wy (1'9) 8211 « W ppGe « Awdyy 1S 8p 0D

w (0°9) £°901 » W 1682 « BHE[EIN 8P [0D

wy (9v) 200} « W 9ppe « uideg np |0D

wy (9°8) 196 « W GG6 | « BUOLEg 8bnjey

w (4°6) G28 « W $G6 | « UN0IORYD |00

wy (12) 1g2 « W 2122 » UiO4 JUOW

wy (¥°2) 042 « W 9G 12 « BYleqges!|3 ebnjey

wy (1°2) 969 « W 698 « SISHOIN s8p 8bnjey

wy (£°G) §'9G « W 8EHe « BWWOyuog Np x1010 €| 8p abnjey
Wy (4'G) 8°0G » W gL/} « dWwieg e

W (2°€}) 'Sy « W LGB} « 91 1-B|-241 9P |91QH

w (£'G) 22€ « W G8OZ + 100U 8p |00

wy (£y) G92 « W 9G9| « BZOA 8P [0D

wsf (6'%) 8+ « W 8PS| « ZeJ0I0] B| 9P |00

w (9°6) 691 » W G18 » ZOAIBS

wy ($°2) ¥°2 « W 0GLg « Teyoe |og ebnjey

w (0°0) 0°0 « W Y0} « XIUOWERYD

imétrique

—
<
rl“
(]
pud
o
+
(]
£
-
©
0
N~
-
£
X
2,
N
AN
(9]
c
o
‘0
-l
-
Q
=
o
put
T
(V]
=1
-
(]
o
«©
-l




